Code (HKMO Classified Questions by topics)

1982 FGS8
% T [ I standsford 1 %7 A4
Given that: 2standsforB 2 % T B

T T T T

4 15 |6 25stands for Y 25 # Y
718 |9 26 stands forZ 26 %7+ Z
1982 FGS.1
me e UL JN0 474 Btz ?
What number does the code U L J 1 [ stand for?
1982 FG8.2
A ET R ENT AN B AT E R .
Put A stands for zero. Calculate the following and give the answer in code.
WA s+ J0F - La
1982 FG8.3
“3 8 18 9 19 20 13 1 197 27— B®w=>3F o v HET?
“3 8 18 9 19 20 13 1 197 stands fora word. What is it?
1982 FG8.4
BT RS G
Decode the following message: (J A J O [ 1 (U J 10D
1998 FG4.4
Pt B T Aoeh i s o
P AS 101 3 200 73 F#cz foi do Rd e -
All integers are coded as shown in the following table .
If the sum of all integers coded from 101 to 200 is d, find the value of d .

& #kc Integer| -+ | - | 3|21 0| 1]2]|3
s Code | - |- | 7| 5|31 ]2]4]6
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Answers
1982 FGR.1 1982 FGR.2 1982 FG8.3 1982 FGR.4 1998 FG4 .4
23485 07r1 CHRISTMAS JOIN US 50
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